BUSI96002 Finance and Financial Management

Module Content

Lecturer: Mr Savitar Sundaresan
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Not applicable 0 0 6 1 1 1 1 2
Definitely Disagree 0 0 0 0 0 0 0 0
Mostly Disagree 0 1 1 1 1 0 0 0
Neither Agree or Disagree 2 1 7 1 2 2 2 1
Mostly Agree 18 12 15 15 1 6 12 1"
Definitely Agree 29 35 20 3 34 40 34 35
Total 49 49 49 49 49 49 49 49
Not applicable 0% 0% 12% 2% 2% 2% 2% 4%
Definitely Disagree 0% 0% 0% 0% 0% 0% 0% 0%
Mostly Disagree 0% 2% 2% 2% 2% 0% 0% 0%
Neither Agree or Disagree 4% 2% 14% 2% 4% 4% 4% 2%
Mostly Agree 37% 24% 31% 31% 22% 12% 24% 22%
Definitely Agree 59% 71% 41% 63% 69% 82% 69% 1%
Total 100% 100% 100% 100% 100% 100% 100% 100%
Final Score 4.55 4.65 4.26 4.58 4.63 4.79 4.67 4.72
4.51 4.70

Total students enrolled

Response rate

144
34%




